

## Biharmonic Submanifolds of Quaternionic Space Forms

BOUAZZA KACIMI AND AHMED MOHAMMED CHERIF\*,<sup>1</sup>

*Department of Mathematics, Faculty of Exact Sciences, Mascara University, Mascara, 29000, Algeria*

*e-mail*: bouazza.kacimi@univ-mascara.dz and  
a.mohammedcherif@univ-mascara.dz

**ABSTRACT.** In this paper, we consider biharmonic submanifolds of a quaternionic space form. We give the necessary and sufficient conditions for a submanifold to be biharmonic in a quaternionic space form, we study different particular cases for which we obtain some non-existence results and curvature estimates.

### 1. Introduction

Let  $(M^m, g)$  and  $(N^n, h)$  be two Riemannian manifolds. A harmonic map is a map  $\varphi : (M^m, g) \rightarrow (N^n, h)$  that is a critical point of the energy functional

$$E(\varphi) = \frac{1}{2} \int_D |d\varphi|^2 v^M,$$

for any compact domain  $D$ , where  $v^M$  is the volume element [1, 6]. The Euler-Lagrange equation of  $E(\varphi)$  is

$$\tau(\varphi) = \text{Tr}(\nabla d\varphi) = 0,$$

where  $\tau(\varphi)$  is the tension field of  $\varphi$  [1, 6]. The map  $\varphi$  is said to be biharmonic if it is a critical point of the bienergy functional

$$E_2(\varphi) = \frac{1}{2} \int_D |\tau(\varphi)|^2 v^M,$$

for any compact domain  $D$ . In [11], Jiang obtained the Euler-Lagrange equation of  $E_2(\varphi)$ . This gives us

$$(1.1) \quad \tau_2(\varphi) = \text{Tr}(\nabla^\varphi \nabla^\varphi - \nabla_{\frac{\varphi}{\nabla}}^\varphi) \tau(\varphi) - \text{Tr}(R^N(d\varphi, \tau(\varphi))d\varphi) = 0,$$

\* Corresponding Author.

<sup>1</sup> Laboratory of Geometry, Analysis, Controle and Applications, Algeria.

Received August 1, 2018; accepted January 28, 2019.

2010 Mathematics Subject Classification: 53C25, 53C55, 58E20.

Key words and phrases: Quaternionic space form, biharmonic submanifold.

This work was supported by National Agency Scientific Research of Algeria.

where  $\tau_2(\varphi)$  is the bitension field of  $\varphi$  and  $R^N$  is the curvature tensor of  $N$ ,  $\nabla^\varphi$  denote the pull-back connection on  $\varphi^{-1}TN$ . Harmonic maps are always biharmonic maps by definition.

A submanifold in a Riemannian manifold is called a biharmonic submanifold if the isometric immersion defining the submanifold is a biharmonic map, and a biharmonic map is called a proper-biharmonic map if it is non-harmonic map. Also, we will call proper-biharmonic submanifolds a biharmonic submanifolds which is non-harmonic [3, 7].

During the last decades, there are several results concerning the biharmonic submanifolds in space forms like real space forms [4], complex space forms [7], Sasakian space forms [8], generalized complex and Sasakian space forms [15], products of real space forms [14]. Motivated by this works, in this note, we will focus our attention on biharmonic submanifolds of quaternionic space form, we first give the necessary and sufficient condition for submanifolds to be biharmonic. Then, we apply this general result to many particular cases and obtain some non-existence results and curvature estimates.

## 2. Preliminaries

We recall some facts on quaternionic Kähler manifolds and their submanifolds. For a more detail we refer the reader, for example, to [2, 5, 10, 12, 13, 16].

An almost quaternionic structure on a smooth manifold  $N$  is a rank-three subbundle  $\sigma \subset \text{End}(TN)$  such that a local basis  $J = (J_\alpha)_{\alpha=1,2,3}$  exists of sections of  $\sigma$  satisfying

$$(2.1) \quad \begin{cases} J_\alpha^2 = -Id \\ J_1 J_2 = -J_2 J_1 = J_3 \end{cases}$$

where  $\alpha = 1, 2, 3$ . The pair  $(N, \sigma)$  is called an almost quaternionic manifold.

Let  $(N, \sigma)$  be an almost quaternionic manifold. A metric tensor field  $g$  on  $N$  is called adapted to  $\sigma$  if the following compatibility condition holds

$$(2.2) \quad g(J_\alpha X, J_\alpha Y) = g(X, Y)$$

for all local basis  $(J_\alpha)_{\alpha=1,2,3}$  of  $\sigma$  and  $X, Y \in \Gamma(TN)$ . The triple  $(N, \sigma, g)$  is said to be an almost quaternionic Hermitian manifold. It is easy to see that any almost quaternionic Hermitian manifold has dimension  $4n$ . An almost quaternionic Hermitian manifold  $(N, \sigma, g)$  is a quaternionic Kähler manifold if the Levi-Civita connection verifies

$$\nabla J_\alpha = \omega_\gamma \otimes J_\beta - \omega_\beta \otimes J_\gamma$$

for any cyclic permutation  $(\alpha, \beta, \gamma)$  of  $(1, 2, 3)$ ,  $(\omega_\alpha)_{\alpha=1,2,3}$  being local 1-forms over the open for which  $(J_\alpha)_{\alpha=1,2,3}$  is a local basis of  $\sigma$ .

A submanifold  $M$  of a quaternionic Kähler manifold  $N$  is called a quaternionic submanifold (resp. totally real submanifold) if  $J_\alpha(TM) \subset TM$  (resp.  $J_\alpha(TM) \subset$

$TM^\perp$ ),  $\alpha = 1, 2, 3$ , where  $TM$  and  $TM^\perp$  denote the tangent and normal bundle of  $M$ , respectively.

Let  $(N, \sigma, g)$  be a quaternionic Kähler manifold and let  $X$  be a unit vector tangent to  $(N, \sigma, g)$ . Then the 4-plane spanned by  $\{X, J_1X, J_2X, J_3X\}$ , denoted by  $Q(X)$ , is called a quaternionic 4-plane. Any 2-plane in  $Q(X)$  is called a quaternionic plane. The sectional curvature of a quaternionic plane is called a quaternionic sectional curvature. A quaternionic Kähler manifold is a quaternionic space form if its quaternionic sectional curvatures are equal to a constant, say  $4c$ . We denote by  $N^{4n}(4c)$  the quaternionic space form of constant quaternionic sectional curvature  $4c$ . The Standard models of quaternionic space forms are the quaternionic projective space  $\mathbb{H}P^n(4c)(c > 0)$ , the quaternionic space  $\mathbb{H}^n(c = 0)$  and the quaternionic hyperbolic space  $\mathbb{H}H^n(4c)(c < 0)$ . The Riemannian curvature tensor  $R$  of a quaternionic space form  $N^{4n}(4c)$  is of the form

$$\begin{aligned}
 R(X, Y)Z &= c\left\{\langle Z, Y\rangle X - \langle X, Z\rangle Y + \sum_{\alpha=1}^3[\langle Z, J_\alpha Y\rangle J_\alpha X - \langle Z, J_\alpha X\rangle J_\alpha Y \right. \\
 (2.3) \quad &\left. + 2\langle X, J_\alpha Y\rangle J_\alpha Z\right\}
 \end{aligned}$$

for  $X, Y, Z \in \Gamma(TN^{4n}(4c))$ , where  $\langle \cdot, \cdot \rangle$  is the Riemannian metric on  $N^{4n}(4c)$  and  $(J_\alpha)_{\alpha=1,2,3}$  is a local basis of  $\sigma$ .

Now, let  $M$  be a submanifold of a quaternionic space form  $N^{4n}(4c)$ . Then for any  $X \in \Gamma(TM)$ , we write

$$J_\alpha X = j_\alpha X + k_\alpha X$$

where,  $j_\alpha : TM \rightarrow TM$  and  $k_\alpha : TM \rightarrow NM$ , here  $NM$  denote the normal bundle of  $M$ . Similarly, for any  $\xi \in \Gamma(NM)$ , we have

$$J_\alpha \xi = l_\alpha \xi + m_\alpha \xi$$

where,  $l_\alpha : NM \rightarrow TM$  and  $k_\alpha : NM \rightarrow NM$ . Since for any  $\alpha \in \{1, 2, 3\}$ ,  $J_\alpha$  satisfies (2.1) and (2.2). Then, we deduce that the operators  $j_\alpha, k_\alpha, l_\alpha, m_\alpha$  satisfy the following relations

$$(2.4) \quad j_\alpha^2 X + l_\alpha k_\alpha X = -X,$$

$$(2.5) \quad m_\alpha^2 \xi + k_\alpha l_\alpha \xi = -\xi,$$

$$(2.6) \quad j_\alpha l_\alpha \xi + l_\alpha m_\alpha \xi = 0,$$

$$(2.7) \quad k_\alpha j_\alpha X + m_\alpha k_\alpha X = 0,$$

$$(2.8) \quad g(k_\alpha X, \xi) = -g(X, l_\alpha \xi),$$

$$(2.9) \quad g(j_\alpha X, Y) = -g(X, j_\alpha Y),$$

$$(2.10) \quad g(m_\alpha \xi, \eta) = -g(\xi, m_\alpha \eta).$$

for all  $X, Y \in \Gamma(TM)$  and all  $\xi, \eta \in \Gamma(NM)$ .

### 3. Biharmonic Submanifolds of Quaternionic Space Forms

Let  $M^m$  be a submanifold of  $N^{4n}(4c)$ ,  $\varphi : M^m \rightarrow N^{4n}(4c)$  be the canonical inclusion. We shall denote by  $B$ ,  $A$ ,  $H$ ,  $\Delta$  and  $\Delta^\perp$  the second fundamental form, the shape operator, the mean curvature vector field, the Laplacian and the Laplacian on the normal bundle of  $M^m$  in  $N^{4n}(4c)$ , respectively.

**Theorem 3.1.** *Let  $M^m$  be a submanifold of  $N^{4n}(4c)$ . Then  $M^m$  is biharmonic if and only if*

$$(3.1) \quad \begin{cases} \Delta^\perp H + \text{Tr}(B(\cdot, A_H(\cdot))) - mcH + 3c \sum_{\alpha=1}^3 k_\alpha l_\alpha H = 0, \\ \frac{m}{2} \text{grad}(|H|^2) + 2 \text{Tr}(A_{\nabla^\perp H}) + 3c \sum_{\alpha=1}^3 j_\alpha l_\alpha H = 0. \end{cases}$$

*Proof.* Choose a local geodesic orthonormal frame  $\{e_i\}_{1 \leq i \leq m}$  at point  $p$  in  $M^m$ . Then calculating at  $p$ , by the use of the Gauss and Weingarten formulas, we have

$$(3.2) \quad \begin{aligned} \Delta H &= -\sum_{i=1}^m (\nabla_{e_i}^\varphi \nabla_{e_i}^\varphi H) = -\sum_{i=1}^m (\nabla_{e_i}^\varphi (-A_H e_i + \nabla_{e_i}^\perp H)) \\ &= -\sum_{i=1}^m (-\nabla_{e_i} A_H e_i - B(e_i, A_H e_i) - A_{\nabla_{e_i}^\perp H} e_i + \nabla_{e_i}^\perp \nabla_{e_i}^\perp H) \\ &= \text{Tr}(\nabla \cdot A_H) \text{Tr} B(\cdot, A_H) + \text{Tr}(A_{\nabla^\perp H}) + \Delta^\perp H. \end{aligned}$$

Moreover,

$$(3.3) \quad \begin{aligned} \text{Tr}(\nabla \cdot A_H) &= \sum_{i=1}^m \nabla_{e_i} A_H(e_i) = \sum_{i,j=1}^m \nabla_{e_i} (\langle A_H(e_i), e_j \rangle e_j) = \sum_{i,j=1}^m (e_i \langle A_H(e_i), e_j \rangle) e_j \\ &= \sum_{i,j=1}^m (e_i \langle B(e_j, e_i), H \rangle) e_j = \sum_{i,j=1}^m (e_i \langle \nabla_{e_j}^\varphi e_i, H \rangle) e_j \\ &= \sum_{i,j=1}^m (\langle \nabla_{e_i}^\varphi \nabla_{e_j}^\varphi e_i, H \rangle + \langle \nabla_{e_j}^\varphi e_i, \nabla_{e_i}^\varphi H \rangle) e_j \\ &= \sum_{i,j=1}^m (\langle \nabla_{e_i}^\varphi \nabla_{e_j}^\varphi e_i, H \rangle + \langle B(e_j, e_i), \nabla_{e_i}^\perp H \rangle) e_j \\ &= \sum_{i,j=1}^m (\langle \nabla_{e_i}^\varphi \nabla_{e_j}^\varphi e_i, H \rangle + \langle A_{\nabla_{e_i}^\perp H}(e_i), e_j \rangle) e_j \\ &= \sum_{i,j=1}^m \langle \nabla_{e_i}^\varphi \nabla_{e_j}^\varphi e_i, H \rangle e_j + \sum_{i=1}^m A_{\nabla_{e_i}^\perp H}(e_i). \end{aligned}$$

Further, using (2.3) and (2.4) we have

$$\begin{aligned}
 \sum_{i,j=1}^m \langle \nabla_{e_i}^\varphi \nabla_{e_j}^\varphi e_i, H \rangle e_j &= \sum_{i,j=1}^m \langle R^{N^{4n}(4c)}(e_i, e_j)e_i + \nabla_{e_j}^\varphi \nabla_{e_i}^\varphi e_i + \nabla_{[e_i, e_j]}^\varphi e_i, H \rangle e_j \\
 &= c \sum_{i,j=1}^m \sum_{\alpha=1}^3 \{ \langle (e_i, e_j)e_i - \langle e_i, e_i \rangle e_j + \langle e_i, J_\alpha e_j \rangle J_\alpha e_i \\
 &\quad - \langle e_i, J_\alpha e_i \rangle J_\alpha e_j + 2 \langle e_i, J_\alpha e_j \rangle J_\alpha e_i, H \rangle e_j \} \\
 &\quad + \sum_{i,j=1}^m \langle \nabla_{e_j}^\varphi B(e_i, e_i) + \nabla_{e_j}^\varphi \nabla_{e_i} e_i, H \rangle e_j \\
 &= 3c \sum_{i,j=1}^m \sum_{\alpha=1}^3 \langle J_\alpha (\langle J_\alpha e_j, e_i \rangle e_i), H \rangle e_j + m \sum_{j=1}^m \langle \nabla_{e_j}^\varphi H, H \rangle e_j \\
 &\quad + \sum_{i,j=1}^m \langle \nabla_{e_j} \nabla_{e_i} e_i + B(e_j, \nabla_{e_i} e_i), H \rangle e_j \\
 &= 3c \sum_{i,j=1}^m \sum_{\alpha=1}^3 \langle j_\alpha^2 e_j, H \rangle e_j + \frac{m}{2} \sum_{j=1}^m e_j (|H|^2) e_j \\
 &= 3c \sum_{i,j=1}^m \sum_{\alpha=1}^3 \langle -e_j - l_\alpha k_\alpha e_j, H \rangle e_j + \frac{m}{2} \text{grad}(|H|^2) \\
 (3.4) \qquad &= \frac{m}{2} \text{grad}(|H|^2).
 \end{aligned}$$

Reporting (3.4) into (3.3), we find

$$(3.5) \qquad \text{Tr}(\nabla \cdot A_H \cdot) = \frac{m}{2} \text{grad}(|H|^2) + \sum_{i=1}^m A_{\nabla_{e_i}^\perp H}(e_i).$$

Replacing (3.5) into (3.2), we get the following formula

$$(3.6) \qquad \Delta H = \frac{m}{2} \text{grad}(|H|^2) + \text{Tr}(B(\cdot, A_H(\cdot))) + 2 \text{Tr}(A_{\nabla^\perp H} \cdot) + \Delta^\perp H.$$

Furthermore, we have

$$(3.7) \qquad \tau(\varphi) = \text{Tr}(\nabla d\varphi) = mH.$$

From (1.1) and (3.7), we find

$$\begin{aligned}
 \tau_2(\varphi) &= \text{Tr}(\nabla^\varphi \nabla^\varphi - \nabla_{\nabla^\varphi}^\varphi) \tau(\varphi) - \text{Tr}(R^{N^{4n}(4c)}(d\varphi, \tau(\varphi))d\varphi) \\
 &= \sum_{i=1}^m (\nabla_{e_i}^\varphi \nabla_{e_i}^\varphi - \nabla_{\nabla_{e_i}^\varphi e_i}^\varphi) mH - \sum_{i=1}^m R^{N^{4n}(4c)}(d\varphi(e_i), mH) d\varphi(e_i) \\
 (3.8) \qquad &= -m \{ \Delta H + \sum_{i=1}^m R^{N^{4n}(4c)}(d\varphi(e_i), H) d\varphi(e_i) \}
 \end{aligned}$$

By (2.3), we get

$$\begin{aligned}
 \sum_{i=1}^m R^{N^{4n}(4c)}(d\varphi(e_i), H)d\varphi(e_i) &= -mcH + 3c \sum_{i=1}^m \sum_{\alpha=1}^3 \langle l_\alpha H, e_i \rangle J_\alpha e_i \\
 &= -mcH + 3c \sum_{\alpha=1}^3 J_\alpha l_\alpha H \\
 (3.9) \qquad \qquad \qquad &= -mcH + 3c \sum_{\alpha=1}^3 j_\alpha l_\alpha H + 3c \sum_{\alpha=1}^3 k_\alpha l_\alpha H.
 \end{aligned}$$

Substituting (3.6) and (3.9) into (3.8), we obtain

$$\begin{aligned}
 \tau_2(\varphi) &= -m \left\{ \frac{m}{2} \operatorname{grad}(|H|^2) + \operatorname{Tr}(B(\cdot, A_H(\cdot))) + 2 \operatorname{Tr}(A_{\nabla^\perp H}) + \Delta^\perp H - mcH \right. \\
 (3.10) \qquad &\left. + 3c \sum_{\alpha=1}^3 j_\alpha l_\alpha H + 3c \sum_{\alpha=1}^3 k_\alpha l_\alpha H \right\}.
 \end{aligned}$$

Obviously  $j_\alpha l_\alpha H$  is tangent and  $k_\alpha l_\alpha H$  is normal for all  $\alpha \in \{1, 2, 3\}$ , comparing the tangential and the normal parts, we get (3.1) and this completes the proof.  $\square$

**Corollary 3.2.** *Let  $N^{4n}(4c)$  be a quaternionic space form and  $M^{4n-1}$  a real hypersurface of  $N^{4n}(4c)$ . Then  $M^{4n-1}$  is biharmonic if and only if*

$$(3.11) \qquad \begin{cases} \Delta^\perp H + \operatorname{Tr}(B(\cdot, A_H(\cdot))) - 4c(n+2)H = 0, \\ \frac{4n-1}{2} \operatorname{grad}(|H|^2) + 2 \operatorname{Tr}(A_{\nabla^\perp H}) = 0. \end{cases}$$

*Proof.* As  $M^{4n-1}$  is a hypersurface, then  $J_\alpha$  for all  $\alpha \in \{1, 2, 3\}$  maps normal vectors on tangent vectors, that is,  $m_\alpha = 0$  for all  $\alpha \in \{1, 2, 3\}$ . Hence, by relation (2.5), we have  $k_\alpha l_\alpha H = -H$  and by relation (2.6),  $j_\alpha l_\alpha H = 0$ , which gives the result by Theorem 3.1.  $\square$

**Corollary 3.3.** *Let  $N^{4n}(4c)$  be a quaternionic space form and  $M^m$  a totally real submanifold of  $N^{4n}(4c)$ . Then  $M^m$  is biharmonic if and only if*

$$(3.12) \qquad \begin{cases} \Delta^\perp H + \operatorname{Tr}(B(\cdot, A_H(\cdot))) - c(m+9)H = 0, \\ \frac{m}{2} \operatorname{grad}(|H|^2) + 2 \operatorname{Tr}(A_{\nabla^\perp H}) = 0. \end{cases}$$

*Proof.* As  $M^m$  is a totally real submanifold, then  $j_\alpha = 0$  for all  $\alpha \in \{1, 2, 3\}$  and by the use of (2.6) we deduce that  $m_\alpha = 0$  for all  $\alpha \in \{1, 2, 3\}$ . Moreover, by relation (2.5), we have  $k_\alpha l_\alpha H = -H$ , which gives the proof by Theorem 3.1.  $\square$

**Remark 3.4.** In [5], Chen proved that every quaternionic submanifold of a quaternionic Kähler manifold is totally geodesic. Then we deduce that every quaternionic submanifold of  $N^{4n}(4c)$  is biharmonic, and there exists no proper-biharmonic quaternionic submanifold in  $N^{4n}(4c)$ .

**Corollary 3.5.** *Let  $N^{4n}(4c)$  be a quaternionic space form and  $M^m$  a totally real submanifold of  $N^{4n}(4c)$  with parallel mean curvature vector field. Then it is biharmonic if and only if*

$$\text{Tr}(B(\cdot, A_H(\cdot))) = c(m + 9)H.$$

*Proof.* Since  $M^m$  has parallel mean curvature, we obtain immediately the result from the Corollary 3.3.  $\square$

**Proposition 3.6.** *Let  $M^{4n-1}$  be a real hypersurface of  $N^{4n}(4c)$  with non-zero constant mean curvature. Then  $M^{4n-1}$  is proper-biharmonic if and only if*

$$(3.13) \quad |B|^2 = 4c(n + 2),$$

or equivalently,  $M^{4n-1}$  is proper-biharmonic if and only if the scalar curvature of  $M^{4n-1}$  satisfies

$$\text{Scal}^{M^{4n-1}} = c\{(4n - 1)(4n + 7) - 4n - 17\} + (4n - 1)^2|H|^2.$$

*Proof.* Assume that  $M^{4n-1}$  is a real hypersurface of  $N^{4n}(4c)$  with non-zero constant mean curvature. Then, by Corollary 3.2, the first equation of (3.11) becomes

$$(3.14) \quad \text{Tr}(B(\cdot, A_H(\cdot))) = 4c(n + 2)H.$$

As, for hypersurfaces, we have  $A_H = HA$ , then we can write

$$(3.15) \quad \text{Tr}(B(\cdot, A_H(\cdot))) = H \text{Tr}(B(\cdot, A(\cdot))) = H|B|^2.$$

Reporting (3.15) into (3.14), we get the identity (3.13).

For the second equivalence, by the use of the Gauss equation, we find

$$(3.16) \quad \begin{aligned} \text{Scal}^{M^{4n-1}} &= \sum_{i,j=1}^{4n-1} \langle R^{N^{4n}(4c)}(e_i, e_j)e_j, e_i \rangle + \sum_{i,j=1}^{4n-1} \langle B(e_i, e_i), B(e_j, e_j) \rangle \\ &\quad - \sum_{i,j=1}^{4n-1} \langle B(e_j, e_i), B(e_j, e_i) \rangle, \end{aligned}$$

where  $\{e_i\}_{1 \leq i \leq 4n-1}$  is a local orthonormal frame of  $M^{4n-1}$ . Therefore

$$(3.17) \quad \text{Scal}^{M^{4n-1}} = \sum_{i,j=1}^{4n-1} \langle R^{N^{4n}(4c)}(e_i, e_j)e_j, e_i \rangle + (4n - 1)^2|H|^2 - |B|^2.$$

Using (2.3) we have

$$(3.18) \quad \begin{aligned} \sum_{i,j=1}^{4n-1} \langle R^{N^{4n}(4c)}(e_i, e_j)e_j, e_i \rangle &= c\{(4n - 1)^2 - (4n - 1) + 9(4n - 1) - 9\} \\ &= c\{(4n - 1)(4n + 7) - 9\}. \end{aligned}$$

Substituting (3.18) into (3.17), we get

$$(3.19) \quad \text{Scal}^{M^{4n-1}} = c\{(4n-1)(4n+7)-9\} + (4n-1)^2|H|^2 - |B|^2.$$

Hence, we deduce that  $M$  is proper-biharmonic if and only if  $|B|^2 = 4c(n+2)$ , that is, if and only if

$$\text{Scal}^{M^{4n-1}} = c\{(4n-1)(4n+7)-4n-17\} + (4n-1)^2|H|^2. \quad \square$$

**Remark 3.7.** The first equivalence of the previous proposition has been proven in [9] for the quaternionic projective space.

**Corollary 3.8.** *There exists no biharmonic real hypersurface with constant mean curvature in a quaternionic space form  $N^{4n}(4c)$  of negative scalar curvature.*

*Proof.* The assertion follows immediately from the first equivalence of Proposition 3.6.  $\square$

**Example 3.9.** The geodesic sphere  $S^{4n-1}(u)$  of radius  $u$  ( $0 < u < \frac{\pi}{2}$ ) in the quaternionic Euclidian space  $\mathbb{R}^{4n}(= \mathbb{H}^n)$  is curvature adapted hypersurface of the quaternionic projective space  $\mathbb{H}P^n(4)$ , i.e.,  $J_\alpha \xi$  is a direction of the principal curvature for all  $\alpha = 1, 2, 3$ , where  $\xi$  is the unit normal vector field along  $S^{4n-1}$  (see [2],[9]). Furthermore it is proper-biharmonic hypersurface in  $\mathbb{H}P^n(4)$  if and only if  $(\cot u)^2 = \frac{2n+7 \pm 2\sqrt{n^2+4n+13}}{4n-1}$ . Indeed, the principal curvatures of  $S^{4n-1}(u)$  are given as follows (see [2],[9]),

$$(3.20) \quad \begin{cases} \lambda_1 = \cot u \text{ (with multiplicity } m_1 = 4(n-1)), \\ \lambda_2 = 2 \cot(2u) \text{ (with multiplicity } m_2 = 3). \end{cases}$$

The mean curvature  $H$  and the square of the second fundamental form  $|B|^2$  of  $S^{4n-1}(u)$  are given by (see [9])

$$\begin{aligned} H &= \frac{1}{4n-1}\{4(n-1)\lambda_1 + 3\lambda_2\}, \\ &= \frac{1}{4n-1}\{4(n-1)\cot u + 6\cot(2u)\}, \\ &= \frac{4(n-1)}{4n-1}t + \frac{3}{4n-1}\left(t - \frac{1}{t}\right), \end{aligned}$$

where  $t = \cot u$ .

$$\begin{aligned} |B|^2 &= 4(n-1)\lambda_1^2 + 3\lambda_2^2 \\ &= 4(n-1)t^2 + 3\left(t - \frac{1}{t}\right)^2 \\ &= (4n-1)t^2 + \frac{3}{t^2} - 6. \end{aligned}$$



On the other hand, using (3.19) we derive

$$\text{Scal}^{S^{4n-1}(u)} = (4n - 1)(4n + 7) - 9 + (4n - 1)^2|H|^2 - |B|^2.$$

Then, by using the second equivalence of the Proposition 3.6, we have that  $S^{4n-1}(u)$  is proper biharmonic if and only if

$$(4n - 1)t^2 + \frac{3}{t^2} - 2(2n + 7) = 0 \Leftrightarrow t^2 = \frac{2n + 7 \pm 2\sqrt{n^2 + 4n + 13}}{4n - 1},$$

which has always solutions. We set for example  $t = \sqrt{3}$  for  $n = 2$ , then the geodesic sphere  $S^7(\frac{\pi}{6})$  is proper-biharmonic hypersurface in  $\mathbb{H}P^2(4)$ .

In the next proposition we give an estimate of the mean curvature for a biharmonic totally real submanifold of  $\mathbb{H}P^n(4)$ .

**Proposition 3.10.** *Let  $M^m$  a totally real submanifold of  $\mathbb{H}P^n(4)$  with non-zero constant mean curvature.*

- (1) *If  $M^m$  is proper-biharmonic, then  $0 < |H|^2 \leq \frac{m+9}{m}$ .*
- (2) *If  $|H|^2 = \frac{m+9}{m}$ , then  $M^m$  is proper-biharmonic if and only if it is pseudo-umbilical and  $\nabla^\perp H = 0$ .*

*Proof.* We assume that  $M^m$  is a biharmonic totally real submanifold of  $\mathbb{H}P^n(4)$  with non-zero constant mean curvature. By the first equation of (3.12), we have

$$(3.21) \quad \Delta^\perp H + \text{Tr}(B(\cdot, A_H(\cdot))) - (m + 9)H = 0.$$

Then taking the scalar product of (3.21) with  $H$ , we find

$$(3.22) \quad \langle \Delta^\perp H, H \rangle + \langle \text{Tr}(B(\cdot, A_H(\cdot))), H \rangle - (m + 9)\langle H, H \rangle = 0.$$

Since  $|H|$  is a constant, we get

$$(3.23) \quad \langle \Delta^\perp H, H \rangle = (m + 9)|H|^2 - |A_H|^2.$$

Using the Bochner formula, we have

$$(3.24) \quad |\nabla^\perp H|^2 + |A_H|^2 = (m + 9)|H|^2.$$

By using Cauchy-Schwarz inequality, i.e.,  $|A_H|^2 \geq m|H|^4$  in the above equation, we obtain

$$(3.25) \quad (m + 9)|H|^2 \geq m|H|^4 + |\nabla^\perp H|^2 \geq m|H|^4.$$

So, we can write

$$0 < |H|^2 \leq \frac{m + 9}{m},$$

because  $|H|$  is a non-zero constant. This gives the proof of **1**).

If  $|H|^2 = \frac{m+9}{m}$  and  $M^m$  is biharmonic. From (3.25), we derive  $\nabla^\perp H = 0$  and from (3.24), we have

$$(3.26) \quad |A_H|^2 = \frac{(m+9)^2}{m}.$$

That is,  $M^m$  is pseudo-umbilical.

Conversely, if  $|H|^2 = \frac{m+9}{m}$  and  $M^m$  is pseudo-umbilical with  $\nabla^\perp H = 0$ , then we get immediately

$$\Delta^\perp H + \text{Tr}(B(\cdot, A_H(\cdot))) - (m+9)H = 0,$$

and

$$\frac{m}{2} \text{grad}(|H|^2) + 2 \text{Tr}(A_{\nabla^\perp H}) = 0.$$

Therefore, by Corollary 3.3,  $M^m$  is proper-biharmonic. This completes the proof.  $\square$

**Acknowledgements.** The authors would like to thank the reviewers for their useful remarks and suggestions.

## References

- [1] P. Baird and J. C. Wood, *Harmonic morphisms between Riemannian manifolds*, Clarendon Press Oxford, 2003.
- [2] J. Berndt, *Real hypersurfaces in quaternionic space space forms*, J. reine Angew. Math., **419**(1991), 9–26.
- [3] R. Caddeo, S. Montaldo and C. Oniciuc, *Biharmonic submanifolds of  $S^3$* , Internat. J. Math., **12**(2001), 867–876.
- [4] R. Caddeo, S. Montaldo and C. Oniciuc, *Biharmonic submanifolds in spheres*, Israel J. Math., **130**(2002), 109–123.
- [5] B.-Y. Chen, *Totally umbilical submanifolds of quaternion-space-forms*, J. Austral. Math. Soc. Ser. A, **26**(1978), 154–162.
- [6] J. Eells and J. H. Sampson, *Harmonic mappings of Riemannian manifolds*, Amer. J. Math., **86**(1964), 109–160.
- [7] D. Fetcu, E. Loubeau, S. Montaldo and C. Oniciuc, *Biharmonic submanifolds of  $CP^n$* , Math. Z., **266**(2010), 505–531.
- [8] D. Fetcu and C. Oniciuc, *Explicit formulas for biharmonic submanifolds in Sasakian space forms*, Pac. J. Math., **240**(1)(2009), 85–107.
- [9] T. Ichiyama, J. Inoguchi and H. Urakawa, *Classifications and isolation phenomena of bi-harmonic maps and bi-Yang-Mills fields*, Note Mat., **30**(2)(2010), 15–48.

- [10] S. Ishihara, *Quaternion Kaehlerian manifolds*, J. Differential Geometry, **9**(1974), 483–500.
- [11] G. Y. Jiang, *2-harmonic maps and their first and second variational formulas*, Chinese Ann. Math. Ser. A, **7**(4)(1986), 389–402.
- [12] H. S. Kim and J. S. Pak, *Scalar curvature of QR-submanifolds with maximal QR-dimension in a quaternionic projective space*, Indian J. Pure Appl. Math., **42**(2)(2011), 109–126.
- [13] J. S. Pak and T. H. Kang, *Planar geodesic submanifolds in a quaternionic projective space*, Geom. Dedicata, **26**(1988), 139–155.
- [14] J. Roth, *A note on biharmonic submanifolds of product spaces*, J. Geom., **104**(2013), 375–381.
- [15] J. Roth and A. Upadhyay, *Biharmonic submanifolds of generalized space forms*, Diff. Geom. Appl., **50**(2017), 88–104.
- [16] B. Sahin, *Slant submanifolds of quaternion kaehler manifolds*, Commun. Korean Math. Soc., **22**(1)(2007), 123–135.